WABCO

CUSTOMER CENTRE

This is a limited print-friendly version.
www.wabco-customercentre.com. The information on this page is confidential. Please
contact us, if you have any questions.

Print Date: 14/01/2023

Full page version of available at

Single-Cylinder compressor,
238 cc, flange mounted, WJP

Material Number: 4111510090

e Size (mm x mm x mm)

231 x 205 x 327

£ Weight (kg) 12.947
e Y i vpc 193133436010
® | B
Technical Specifications Replaces
Brand WABCO Original DAIMLER 9061305815
Part type Premium original quality MERCEDES-BENZ A9061305415
Cooling Water MERCEDES-BENZ 9061304115
Crankshaft thread M20 x 1.5 LH MERCEDES-BENZ 9061305415
Lubrication Lubrication supplied from MERCEDES-BENZ 9061305815
engine
PACCAR 9504985

Max. operating pressure

12.5 bar

Mounting

Flange mounting

Operating speed

3000 (1/min)

Piston diameter

85 mm

Page 1 of 5


https://www.wabco-customercentre.com/catalog/en_GB
https://www.wabco-customercentre.com/
https://doc.wabco-auto.com/ProductFiles/anteros/Picture/alternateImages/4111510090-4_tif.png
https://doc.wabco-auto.com/ProductFiles/anteros/Picture/alternateImages/4111510090-1_tif.png
https://doc.wabco-auto.com/ProductFiles/anteros/Picture/alternateImages/4111510090-2_tif.png
https://doc.wabco-auto.com/ProductFiles/anteros/Picture/productImage/4111510090-4_tif.png

Piston stroke 42 mm
Port thread 0 @ 30 mm
Port thread 2 M26 x 1.5
Port thread 8.1 @6 mm
Port thread 9.1 M14 x 1.5
Port thread 9.2 M14 x 1.5
Product category Device
Swept volume (cm3) 238 cm3

Technical specification

OE specification

Type

Single Cylinder

Type of operation

Normal pressure using
unloader

Calculated Volume 15.485
(dmq)
GTIN 7895851076389

Size (mm x mm x mm)

231 x 205 x 327

UPC

193133436010

Weight (kg)

12.947

Weight (Ib)

28.5432

List of Spare Parts

Position Description

Quantity in
Device

Part of a Repair Kit

Available
Individually

1 Crankcase

2 Bearing

4111519272

4111513404

11 Connecting rod

Page 2 of 5


https://www.wabco-customercentre.com/catalog/en/4111519272
https://www.wabco-customercentre.com/catalog/en/4111513404

12 Connecting Rod, lower part

13 Cheese Head Screw 4111519272 4111540022 4111549212 8912019294
ISO14580-M6x35 4111549222

16 Gasket 4111540022 4111549212 4111549222

17 Hexagon head screw 4111540022 4111549222
ISO4017-M5x18

18 Cylinder cover 4111540022

19 Pressure valve 4111540022 4111549222

20 Hexagon nut 1ISO4161-M5 4111540022 4111549222

21 Sealing 4111540022 4111549212 4111549222

22 Adjusting screw 4111540022 4111549222

23 Plate 4111540022 4111549222

24 Cover 4111540022

Page 3 of 5


https://www.wabco-customercentre.com/catalog/en/4111519272
https://www.wabco-customercentre.com/catalog/en/4111540022
https://www.wabco-customercentre.com/catalog/en/4111549212
https://www.wabco-customercentre.com/catalog/en/4111549222
https://www.wabco-customercentre.com/catalog/en/8912019294
https://www.wabco-customercentre.com/catalog/en/4111540022
https://www.wabco-customercentre.com/catalog/en/4111549212
https://www.wabco-customercentre.com/catalog/en/4111549222
https://www.wabco-customercentre.com/catalog/en/4111540022
https://www.wabco-customercentre.com/catalog/en/4111549222
https://www.wabco-customercentre.com/catalog/en/4111540022
https://www.wabco-customercentre.com/catalog/en/4111540022
https://www.wabco-customercentre.com/catalog/en/4111549222
https://www.wabco-customercentre.com/catalog/en/4111540022
https://www.wabco-customercentre.com/catalog/en/4111549222
https://www.wabco-customercentre.com/catalog/en/4111540022
https://www.wabco-customercentre.com/catalog/en/4111549212
https://www.wabco-customercentre.com/catalog/en/4111549222
https://www.wabco-customercentre.com/catalog/en/4111540022
https://www.wabco-customercentre.com/catalog/en/4111549222
https://www.wabco-customercentre.com/catalog/en/4111540022
https://www.wabco-customercentre.com/catalog/en/4111549222
https://www.wabco-customercentre.com/catalog/en/4111540022

Page 4 of 5



Repair Kits Description

Material Number

Kit: Crankshaft 4111519272
Kit: Cylinder Head 4111540022
Kit: Gasket 4111549212
Kit: Valve Plate 4111549222

Alternative Description

Material Number

Single-Cylinder compressor, 238 cc,

flange mounted, WJP

411151009R

The text, data, articles, photos, images and other information (collectively, "Content") on this site is owned by WABCO or its Content providers

and is protected by U.S. and International copyright laws and treaties. You acknowledge that the Content is and shall remain the property of

WABCO. You may not copy, modify, transmit, participate in the sale or transfer of, or create derivative works based on any Content, in whole or

in part. The use of the Content on any other Site, including by linking or framing, or in any networked computer environment for any purpose is

prohibited without WABCOQO's prior written approval.

Page 5 of 5



